Physics 200 (Stapleton) Name: /</ ey
Notes: Introduction to Newton’s Laws

Newton’s 3 Laws of Motion:
e 1% Law: Law of Inertia. Objects in motion...
e 2™law: F=ma
e 3" Law: Action/reaction
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What is the net force that is acting on the box to the.right? N : 5 2 >
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,-Newton’s 1" Law: |

° The usual versi on Objects in motion remain in motion in a straight line and at a constant speed, and objects
at rest stay at rest, unless they are acted upon by an outside (or unbalanced) force.
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Newton's 1st Law is called the "Law of Inertia.”” In@ /’080 ) r‘7/ WL all L
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What kinds of objects have the most inertia? 0“‘ ¢
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Mass: /} rCasure. o% .5‘0"“@7%(:9.3‘ t e Fie.
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The unit we will use for mass is the ' /</ /oﬁl/afﬂfl ', which is abbreviated /éﬁ
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Force: o /Oc.j/L ol 61/0 (/\r//
The unit we will use for force is the /7/‘ (A "/9 N , which is abbreviated /]/ O

Consider a child pushing a toy car. Theg{orce applied to the car equals the mass of the car multiplied by the car’s
acceleration. Starting withan ordmaUa\how what would happen to the sizes of F, m, and a if...

F=rc.
e The car's mass is increased, but the apphed force is kept the same. F,/W/ \\

e The car’s massis decreased, but the applied force is kept the same -~ AR
e Thecar has the same mass, but it accelerates faster.
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e Thecarhasthe same@ass but less force is applied to the car.

Y /N
-’/770_\

| ©

| Newton's 3™ Law: R >
{ o{&@

| State Newton's 3™ Law of Motion: /,;, ~ &ve r*/ o 6—7‘: ) A— ‘“/4’54
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Describe some examples of achon/reac‘hon (palrs demonstrating Newton's 3™ Law.
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e Walking Rightward: £,/ s Py
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In the case of a gun and a bullet, what is anm e, and wﬁl’s—;\ofb Explain.
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